R25H Mo AR F HE B X 1| %% & Lt EE 8 HE &£ NoBIN £ )
: B2 K R K Rifg K R K Xifd K X K K K K| K R K XK K XK K K
A 58128 | 58128 | 58128 | 58128 | 58128 | 5A198H | 5A198B | 5HA198 | 5H198 | 581980 | 5A19H
M °C 20.0 22.0 24.0 24.0 23.0 21.0 21.0 20.0 20.0 19.0 20.0
KR °C 16.5 19.0 17.0 20.0 17.0 19.0 19.5 17.0 18.0 15.5 20.5
#®m & 13 B H % (B

—EHE 100/8/mLEA T 1 0 0 0 0 0 0 0 0 0 0
KBE mtshance| TARH TiaH N Tas] N Tas] TR =4 e (=4 e (=4 £k
NEZaLIEEY 0.02mg/LELT 0.002Ki# | 0.002FKi# | 0.002FKi# | 00025k | 0.002%KE | 0.002%kKH
TN EYMRUVIEILS T [001me/LUT 0.0013Ri# | 0.0013K% | 0.0012K{#E | 0.001KjE | 0.001FKjH | 0.001FKE
7 0.6mg/LLLT 0.065Ki# | 006K | 006K | 006K | 006K | 006K
HO0OBEEE 0.02meg/LELF 0.002K7# | 0.0025Ki# | 0.0025Ki# | 0.002Ki# | 0.002K# | 0.002KiH
juul; JWWN 0.06me/LELT 0.001Ki#% 0.001 0.004 0.01 0.004 0.001R %
p2As i 0.03mg/LIT 0.003kj#% | 0.003%k& | 0.003%kH 0.007 0.0035Ki% | 0.003ki%
CJ7OF/OAA9Y 0.1mg/LELTF 0.002 0.001 0.001K i 0.003 0.002 0.001
EEF 001meg/LELF 0.001K7# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001Ki# | 0.001KiH
WK AOARY 0.1mg/LEATF 0.003 0.004 0.006 0.019 0.009 0.001
cJoOOEERE 0.03me/LELTF 0.003kj#% | 0.003%kj% | 0.003%kH 0.007 0.003Kji# | 0.003K;iH
JOESHOO0ALY 0.03mg/LELTF 0.001 0.002 0.002 0.006 0.003 0.001 K i
JOEHRILL 0.09me/LELTF 0.0013Ri#% | 0.0013K{%E | 0.001K{E | 0.001KjE | 0.001kKjE | 0001k
RILLFILTER 0.08me/LELTF 0.0085Ki#% | 0.008%ki% | 0.008kj#% | 0.008kj% | 0.008kKi%H | 0.008kKH
HRUZDIEEY 0.3mg/LUF HBETE HEA HBETE HREH HEETE 0.03% %
FIEZDLRUVZDIEEY 02me/LLUT HBRE] HREA HRE] HHEA] 0.04 HET]
tEiemAA> 200mg/LEAT 35 5.4 4.1 5.3 35 4.7 46 2.4 4 33 3.2
e 3mg/LELTF 0.3k | 03K | 03XKim 0.4 0.3k 0.2 0.3 0.4 0.6 0.4 0.2
pH{E 5851 E86LLT 7.1 7.0 6.9 7.1 7.4 6.97 6.67 7.29 7.39 7.17 6.71
73 2xoance BEELGL | BEGL | EELGL | BELQL | E84L | BELGL EEGL BEGL 2EEEL BELGL 2EEEL
ER 2xoanoe BELGL | BEAGL | EELGL | EEBLGL | EBGL | BEGL EEiGL BELGL 2EEEL BELGL 2EEEL
BE SEUT 05K | 05K | 05K 1.9 0.5 i 15K 5l 1R 1R i 1R 1R i 1R
I 2ELLT 01K | 01K | 0.1kKi& 0.8 0.15K & 0.15K & 0.1 ik 0.15K & 0.1k 0.1K & 0.1
WiEh R %= B me/L 0.5 0.35 0.3 0.5 0.3 0.3 0.4 0.3 05 0.2 0.2




